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Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : www.GovtJobsAlert.In

[Registration No.

IName :

[Exam Venue : iON Digital Zone iDZ 2 Chinamushidiwada
[Exam Time : 12:30 PM - 2:00 PM

[Exam Date : 13/02/2019

Section : General Section

Q.1 In a certain code, ENGINEER is written as REEINENG. How will PRODUCER be written in that code?
Ans o 1. RECDUPRO

X 2. RECDUORP

X 3. RECDVPRO

X 4 RECUDORP

Question ID : 9895804723
Chosen Option : 1

Q.2 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?

s
S&L

KL m

Ans

Question ID : 9895804740
Chosen Option : --

Q3 Select the option that will correctly replace the question mark (?) in the series.

PKZ, NMX. LOV, JQT. ?
Ans o 1. HSR

X 2 ISO

X 3. HTP

X 4 HST
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Question ID : 9895804717
Chosen Option : 1

Q.4 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely

follow(s) from the information given in the statements.
Statements:

1) All gypsies are webs.

2) All webs are nest.
Conclusion:

I. All nests are gypsies.

II. Some nests are gypsies.

Ans X 1. Both conclusions follow.

' 2. Only conclusion II follows.
/< 3. Only conclusion I follows.

< 4. Either conclusion I or conclusion II follows.

Question ID : 9895804728
Chosen Option : '3

Q.5 Select the option that is related to the third number in the same way as the second number is related to the first number.
17:289::23:7
Ans ( 1. 520
X 2 625
X 3 144
X 4 169

Question ID : 9895804732
Chosen Option : 1

Q6 Select the option that will correctly replace the question mark (?) in the series.

10, 11, 19, 46, ?
Ans of 1110

X 2 105

X3 82

X4 77

Question ID : 9895804731
Chosen Option : --

Q.7 Find out the two signs to be interchanged to make the following equation correct.
17+28x4-5+3=9

Ans X1 _and ~
X 2 +and-
v 3 xand +
X 4 - and x
Question ID : 9895804735
Chosen Option : --
Q.8
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Choose the odd one out of the given options.
Ans X 1. Garlic
& 2. Onion
v 2 Mustard
X 4 Ginger

Question ID : 9895804719
Chosen Option : 3

Q.9 Choose the option that most closely resembles the mirror image of the given word when mirror is placed at right side.

CLAMBER

Ans o 1 93EMAID
X 2 AIBNATD
X = RIBNATD

< 4. AIBWAID

Question ID : 9895804739
Chosen Option : 1

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
0
DFH: HLP:: EGI: ?

Ans x 1. IMP
v 2 INR
X 3. IMR
X 4. INP

Question ID : 9895804722
Chosen Option : 2

21 Choose the odd number out of the given options.

Ans X 1. 373
v 2 317
X 3 247
X 4 319

Question ID : 9895804733
Chosen Option : 3

Q.1 Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)
2

Q

X

x| [/

Ans
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B
x| 14X

Question ID : 9895804738
Chosen Option : 3

Qél Choose the option that would follow next in the given figure series.

st ?

A B C D E

Ans

3
[ B

&

At

Question ID : 9895804736
Chosen Option : 3

Q.1 In a certain code, PENCIL is written as 59. How will ERASER be written in that code?
4

Ans J 1. 66
X 2. 55
X 3. 65
X4 54
Question ID : 9895804724
Chosen Option : 3
Q1
5
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Select the option that will correctly replace the question mark (?) in the series.

4,20,36,52,7
Ans x 1. 70
X 2 69
X 3 67
v 4 68

Question ID : 9895804730
Chosen Option : 4

Q.1 Seven friends O, P. Q. R. S, T and U are watching a movie sitting in a row. S is sitting at one extreme end. Q is sitting
6 second to the right of S. P is sitting between O and Q. U is not sitting at any extreme end. R is sitting to the left of T.
Who is sitting to the immediate left of P?

P
o W™ a o

Question ID :'9895804725
Chosen Option : 4

Q7'1 Select the Venn diagram that best represents the given set of classes.

Trivandrum. India, Kerala
Ans x 1.

v &3

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Download More Papers From www.GovtJobsAlert.In




Download More Papers From www.GovtJobsAlert.In

Question ID : 9895804741
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
® Dissipate: Squander:: Alight : 7
Ans X 1. Prohibition
v 2. Descend
X 3. Scarcity

2 4 Tllusion

Question ID : 9895804720
Chosen Option : 2

Qél Select the option that will correctly replace the question mark (?) in the given pattern.

-J

13 23

3 4 6

39 | 92 66

Ans ?(1- 13

v 3 11

Question ID : 9895804734
Chosen Option : 1

%2 Choose the odd one out of the given options.

Ans X 1. GFR
X 2. NIG
v 3 RST
X< 4 DHS

Question ID : 9895804718
Chosen Option : 3

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
1
Lock: Key::Horse: ?

Ans
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v i Carriage
X< 2. Bull
X 3 Ride
< 4. Saucer

Question ID : 9895804721
Chosen Option : 3

Q.2 I KL, M, NandO are six teachers. Each one teaches a different subject out of Hindi, English, Math, Science, Social
2 Science and Arts, not necessarily in the same order. Each of them teaches on only one day, from Monday to Saturday,
not necessarily in the same order. J teaches Arts on Saturday. L teaches neither English nor Social Science, but he
teaches on Thursday. Wednesday is reserved for Maths taught by K. O teaches Science a day before N. Social Science is
taught a day before Arts. Which subject is taught on the first day of the week?
Ans o 1 Science
X 2. Hindi
X 3. Arts
X 4. English
Question ID : 9895804727
Chosen Option : --
Q.2 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
3 pattern. (Rotation is not allowed).
!
X
Ans
X1
v \\
X s
F
Question ID : 9895804737
Chosen Option : 2
Q.2 Eight friends A. B. C, D. E. F. G and H are sitting around a circular table facing each other for a lunch. A is opposite F
4 and third to the right B. G is between F and D. H is to the left of D. E is between C and A. Whao is sitting opposite E?
Ans ( 1. G
X2 B
X3 C
X4 H
Question ID : 9895804726
Chosen Option : --
Q.2
5
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The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely

follow(s) from the information given in the statements.
Statements:
1) Some zoos are hangers.
2) Some hangers are fishes.
Conclusion
L. Some zoos are fishes.

II. Some hangers are zoos.

Ans  of 1. Only conclusion II follows.

< 2. Both conclusions follow.
< 3. Neither conclusion I nor conclusion II follows.
X a Only conclusion I follows.

Question ID : 9895804729
Chosen Option : 4

Qéz Who was the Chairman of the Drafting Committee of the Constituent Assembly?

Ans 31 Rajendra Prasad

v 2 B.R. Ambedkar
X 3. Jawaharlal Nehru
X 4 K.M. Munsi

Question ID : 9895802637
Chosen Option : 1

22 Who is the author of the book titled “Becoming’?
Ans 1. Milenia Trump

/< 2. Shashi Tharoor
' 2 Michelle Obama
/< 4. Therasa May

Question ID : 9895802630
Chosen Option : --

Q.2 Which of following sections of the Indian Constitution is also known as the ‘conscience of the Indian Constitution’?

8
Ans 1. Citizenship

v 2. Fundamental rights
X 3. Scheduled languages
# 4. Federalism

Question ID : 9895802636
Chosen Option : 2

Qéz Which of the following is a non-essential life process?
Ans X 1. Reproduction
/X 2. Excretion
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/< 3. Nutrition

' % Communication

Question ID : 9895802640
Chosen Option : 4

ng Which of the following statements is incorrect about hypermetropia?

Ans o 1 Elongation of the eye ball is one of the causes of the defect.
< 2. It is also known as far-sightedness.
/< 3. The affected person cannot see nearby objects properly.

p N

It may also arise because the focal length of the eye lens is too long.

Question ID : 9895802638
Chosen Option : --

Q.3 Rohan Bopanna, the Arjuna Puraskar awardee of 2018, is known for accomplishments in which sport?
1

Ans o 1. Tennis
X 2. Wrestling
X 3. Shooting
# 4. Para-badminton

Question ID : 9895802628
Chosen Option : --

Qé3 Who designed the Swaraj Flag during the Swadesi Movement in India?

Ans (1. Abanindranath Tagore

v’ 2. Mahatma Gandhi
/< 3. Bal Gangadhar Tilak

/< 2. Rabindranath Tagere

Question ID : 9895802648
Chosen Option : 2

Qé3 Which of the following organizations publishes the World Development Report?

Ans X 1. UNESCO
v 2. World Bank
< 3. UNDP
X 4 IMF

Question ID : 9895802632
Chosen Option : 1

Q‘i3 Which of the following departments of the Government of India runs payvments banks?

Ans 1. Department of Economic Affairs
' 2. Department of Posts
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< 3. Department of Accounting Affairs

/< 4. Department of Financial Inclusion

Question ID : 9895802633
Chosen Option : 4

%3 Which is the highest peak of Western Ghats?

Ans X 1. Dodda Betta

< 2. Mahendragiri
v 2 Anamudi

< 4. Baba Budan Giri

Question ID : 9895802643
Chosen Option : --

Q.3 In the Indian constitution, the power to legislate on the ‘residual matters’ has been assigned to:

Ans  of 1. the Union Government
X 2. the High Courts

X 3. the Supreme Court
X 4 the State Governments

Question ID : 9895802635
Chosen Option : 3

Q7'3 Which of the following states has the highest population density?

Ans o 1 Bihar
# 2. Tamil Nadu
/< 3. West Bengal

< 4. Uttar Pradesh

Question ID : 9895802645
Chosen Option : 4

Qé3 Which of the following statements about gravitational force is NOT correct?

Ans x 1.

It is inversely proportional to the square of the distance between the objects.

p

Newton relied on the theories of Kepler in his research on the gravitational force.

v

It is inversely proportional to the product of the masses of the objects.

54

It is the force responsible for the attraction of every object of the universe towards each other.

Question ID : 9895802642
Chosen Option : 4

Q: Ramnath Goenka Awards are conferred for contributions in the field of:

Ans X' 1. mural sanitation
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2 journalism

/X 3. women empowerment

75 4. sports

Question ID : 9895802629
Chosen Option : --

QO-“ Which of the following is NOT a folk dance form associated with Assam?
Ans X 1. Bihu

X 2. Bagurumba

' 3. Mandjas

X 4. Satriya Nritya

Question ID : 9895802625
Chosen Option : 4

Q:i4 Maulana Abul Kalam Azad (MAKA) Trophy is given by the Union Government to:

Ans 3 1. overall top performing state in national-level tournaments

52

corporate entities who have played a visible role in the area of sports promotion and development

v

overall top performing university in inter-university tournaments

p N

overall top performing athlete in international events organized in the year

Question ID : 9895802627
Chosen Option : --

Q.4 Indian businessman and philanthropist Azim Premji was recently conferred Chevalier de la Legion d'Honneur. It is the

2 highest civilian distinction of:
Ans X 1. Britain
v 2. France
/< 3. Spain
75 4. Germany

Question ID : 9895802631
Chosen Option : 1

%% Which of the following is NOT a world heritage site?
Ans 1. Agra Fort

' 2. Adamgarh Rock Shelters

X 3. Ajanta Caves

# 4. Bhimbetka Rock Shelters

Question ID : 9895802626
Chosen Option : 1

QA“ The part of a leaf which connects it to the stem is called:
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Ans X 1. lamina
X 2. vein
W 3. petiole
X 4. stipules

Question ID : 9895802641
Chosen Option : 2

%4 Which of the following options is a harvest festival?

Ans o 1. Opam
& 2. Janmashtami
X 3. Dussehra
/< 4. Akshaya Tritiya

Question ID : 9895802624
Chosen Option : 1

%4 Who was the father of Sultana Raziya?

Ans 1. Muhammad Tughlug
< 2. Balban
¥ 3 Itutmish
& 4 Kaikubad

Question ID : 9895802647
Chosen Option : 1

Q.4 Which of the following schemes is NOT among the Union Government’s steps for finaneial inclusion?
7

Ans X 1. Pradhan Mantri Jeevan Jyoti Bima Yojana
#< 2. Pradhan Mantri Jan Dhan Yojana
+ 2 Pradhan Mantri Ujjawala Yojana
< 4. Pradhan Mantri Suraksha Bima Yojana

Question ID : 9895802634
Chosen Option : 3

%4 In any food chain, the top level is occupied by:
Ans - X 1. lions

' 2. human beings

/< 3. serpents

X 4. eagle

Question ID : 9895802639
Chosen Option : 1

Qé“ Which of the following is NOT a Neolithic cultural site?

Ans  of 1. Kuntasi
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& 2. Koldihwa

/< 3. Mehrgarh
X 4 Burzahom

Question ID : 9895802646
Chosen Option : 3

st Which of the following rivers forms the famous Sivasamudram Falls?

Ans X' 1. Kali Sind
v 2. Kaveri
7< 3. Tungabhadra

X 4 Krishna

Question ID : 9895802644
Chosen Option : 2

Q5 . ; \.
1 What is the value of ¢gq_s0g.5_12 ;(2.117

13 L4 3)
Ans x 1. 574

X< 2 577
X< 3 571
4 575

Question ID : 9895804361
Chosen Option : 2

Q.5 The length breadth and height of a cuboid are in the ratio 5 : 4 : 2. If the volume of cuboid is 5000 cm3, then what will
2 be the total surface area of the cuboid?

AN 1 1900 cm?
X 21750 cm?
X 3 2100 cm?
X 41800 cm?

Question ID : 9895804379
Chosen Option : --

Q5 ; 4 25 1
3  What is the value of 528—24><50f7+5 ?

Ans X 1.1920/7
X 2. 2125/9
X 3.1926/7
v 4 2006/7

Question ID : 9895804360
Chosen Option : 2

Q.5 If the average of six consecutive even numbers is 11. then what will be the smallest number among them?
4

Ans (1. &
X2 4
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X338
X 410

Question ID : 9895804363
Chosen Option : --

Q.5 The bar chart given below shows the total exports (in T 1000 crores) of a country for 7 consecutive years Y1, Y2, Y3,
5 ¥4, V5 Y6and V7.

1290 09 130
ooy
750 by
illlll
¥IO¥D YR Y4 OYS ¥ A7

‘Which year shows the highest percentage change in the exports as compare to previous year?

Ans x 1. Y3
X2 Y4
v Y2
X4 Y5

Question ID ; 9895804382
Chosen Option : 3

Qé‘r’ If cost price of an article is ¥1126 and loss is 22%, then what will be the net loss?

Ans X1 %252.60
v 224772
X 3 %260.52
X 4 %232.20

Question ID : 9895804367
Chosen Option : 2

Q.5 Working 4 hours in a day, R can complete a work in 12 days and working 8 hours in a day, 4 can complete the same
7  workin® days. Working 2 hours in a day, in how many days both R and 4 together can complete the same work?

Ans  of 1. 72/5 days
X 2. 72 days
/< 3. 36/5 days
X 4. 48/5 days

Question ID : 9895804375
Chosen Option : 2

Q.5 Cost price of first article is T480 and selling price of second article is ¥480. If there is a profit of 20% on first article and
8  loss 0f20% on second article. then what will be the total loss?

Ans of 1. 324
X< 2 %18
<3 320
/< 4. No profit no loss

Question ID : 9895804368
Chosen Option : 2

Q.5 Curved surface area of a cylinder is 1056 cm?. If the height of cylinder is 8 cm, then what will be the diameter of its
base?

Ans X1 21 cm
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X 2. 245cm

X 3 145 cm
v 2 42 cm

Question ID : 9895804378
Chosen Option : 2

Q.6 If Highest common Factor of two numbers is 12, then which of the following cannot be their Least Common Multiple?

Ans x 1. 60
X 2 48
X3 24
v 2 80

Question ID : 9895804359
Chosen Option : 2

Q.6 1400 boys and 900 girls gave an exam. If 52% boys and 68% girls pass in the exam, then what is the percentage of
1 students who failed in the exam?

Ans X 1. 63.72%
v 2 41.74%
X 3 58.26%
X 4 36.28%

Question ID : 9895804365
Chosen Option : 2

Q.6 Manoj covers two distances of 20 km and 36 km in 5 hours and 3 hours respectively. What will be the average speed of
2 Manoj for the whole journey?

Ans X1 8 km/hr
v 2. 7 km/hr
&< 3 5 kim/hr
< 4 6 km/hr

Question ID : 9895804377
Chosen Option : 2

Q.6 The pie chart given below shows the imports of 7 different items P1, P2, P3. P4, P5. P6 and P7 as a percentage of total
3 imports of a country.

BT Pl
1% 1%
P
26 239
2%
s P
e P

If the total import of the country is T 3000000, then how much is the import of item P6?

Ans 3 1. 450000
&< 2. 720000
v 3 630000
X 4. 690000

Question ID : 9895804383
Chosen Option : 3

Q.6 Inashop there are 60 articles. The average cost of 30 articles is T30 and the average cost of the remaining articles is
4 %35 What is the average cost of all the articles together?
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Ans X1 %33

v 2 2325
X 3 %335
X4 T34

Question ID : 9895804362
Chosen Option : 2

Q.6 Mohit and Sumit start a business with investment of 66000 and ¥84000 respectively. If at the end of the year they earn
5 profit in the ratio of 11 : 9, then what will be ratio of the time period for which they invest their money?

Ans of 1.14:9
X2 33:42
X39:11
X4 7:11

Question ID : 9895804369
Chosen Option : 2

.6 Marked price of a machine is 70% more than its cost price. If machine is sold at a fit of 44.5%, then what will be the
P P! pro
6 discount percentage?

Ans of 1. 15%
X 2 20%
X 3 25%
X 4 17%

Question ID : 9895804364
Chosen Option : 2

Q.6 A 420 metre long train is moving at the speed of 120 km/hr. How much time it will take to cross a 580 metres long
7 platform?

Ans  of 1. 30 seconds
< 2. 48 seconds
< 3. 40 seconds
X 4. 45 seconds

Question ID : 9895804376
Chosen Option : 2

Q.6 A number is increased by 40% and the resultant is decreased by 25%. What will be the total percentage increase?
8

Ans X1 10%
X 2 6%
V'3 5%
X 4 4%

Question ID : 9895804366
Chosen Option : 2

% Ifp:q=7:8. then what will be (p¥/q) : (q%/p)?
Ans X1 512 : 343
X 2 49:64
v 2 343512
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K47:8

Question ID : 9895804371
Chosen Option : 2

Q.7 simple interest on a sum for 4 years is ¥ 24000 and the compound interest on the same sum at same rate of interest
0 (interest is compounded annually) for 2 years is
¥ 12750. What is the rate of interest per annum?

Ans of 1.12.5%
X 2. 20%
X 3 15%
X 4 18%

Question ID : 9895804373
Chosen Option : 2

Q.7 A bag has white and yellow balls in the ratio 12 : 17 respectively. If the total number of balls is 116, then how many
1 balls are yellow?

Ans ?(" 1. 62
X2 74
V'3 68
X4 76

Question ID : 9895804370
Chosen Option : 2

Q.7 18 workers can complete one-third of a work in 27 days. How many workers can complete the same whole work in 9
2 days?

Ans X 1. 128 days
W 2. 162 days
X 3. 112 days
X 4. 148 days

Question ID : 9895804374
Chosen Option : --

Q.7 The ratio of the areas of two triangles is 6 : 1 and the ratio of their bases is 3 : 2. What will be the ratio of their height?

[ S S R
ad = = =

Question ID : 9895804380
Chosen Option : --

Q.7 A sum of 10000 becomes 16000 at the rate of 15% per annum on simple interest in P years. What will be the value of

4
Ans X 1. 3 years
W 2 4 years
/< 3. 6 years
75 4. 5 years
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Question ID : 9895804372
Chosen Option : --

Q.7 The pie chart given below shows the annual snowfall received by 7 states of a country. The snowfall is shown as a

5 percentage of total anmal snowfall of the country.

57
25 % 52
15%
56 53
14% 20%
85 84
12% 6%

If the anmual snowfall received by the country is 700 cm. What is the average annual snowfall of 52, S6 and S7?
Ans X1 Cannot be determined
X 2 154 cm
v 3 126 cm
X 4 84 cm

Question ID : 9895804381
Chosen Option : --

Section : English Language

Q.1 Identify the segment in the sentence which contains the grammatical error from the given options.

Today we are closer to reaching an agreement that we were a few months ago.

Ans X 1. a few months ago
< 2. to reaching

X 3. we are closer

W 4 that we were

Question ID : 9895804831
Chosen Option : 3

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.

We must realize that learning from mistakes are an important part of life.

Ans  of 1 mistakes are
X 2. part of life
< 3. that learning from

X 4. We must realize

Question ID : 9895804832
Chosen Option : 3

Q3 Select the word which means the same as the group of words given.

That which cannot be conquered
Ans 1. Incapable
v 2. Invincible
/< 3. Inevitable
X 4 Invisible

Question ID : 9895804827
Chosen Option : 3
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Q4 Select the most appropriate synonym of the given word.

GLOOMY

Ans 5 | Light
v 2 Dull
/< 3. Bright
X 4. Painful

Question ID : 9895804818
Chosen Option : 3

Q5 Select the word which means the same as the group of words given.

A person who eats too much
Ans X1 Greedy
v 2. Glutton

X 3. Obese
X 4 Liberal

Question ID : 9895804826
Chosen Option : 2

Q6 Select the correctly spe
Ans 1. immigiate

X 2. immidiate

& 3 imediate

v 4 immediate

Question ID : 9895804825
Chosen Option : 4

Q7 Select the most appropriate meaning of the given idiom.

Once in a blue moon
Ans i 1. Rarel}'
X 2. Usually

< 3. Never
/< 4. Frequently

Question ID : 9895804823
Chosen Option : 1

Q.8 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

By seeing the cameras the villagers were convinced that the tourists intended to take photographs.
Ans  of 1. Seeing the cameras
& 2. Seen the cameras
/X 3. No improvement
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/< 4. Saw a camera

Question ID : 9895804837
Chosen Option : 3

Q9 Select the most appropriate word to fill in the blank.

Hewasvexed  the behaviour of his daughter.
Ans X1 from

X 2 for

53 on

v 4 with

Question ID : 9895804834
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1) a mention in any discussion of the future of Indian theatre. It is the (2)
development of the cinema as a competitor for (3) among people. In (4) early flush of cinematic
triumph, the experts in the field (5) the extinction of the theatre.

SubQuestion No : 10

2 Fill in blank (1) with the most appropriate option.
Ans X 1. involves

v 2. deserves

& 3. invites

< 4 dictates

Question ID : 9895804839
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1) a mention in any discussion of the future of Indian theatre. It is the (2)

development of the cinema as a competitor for (3) among people. In (4) early flush of cinematic
triumph, the experts in the field (5) the extinction of the theatre.

SubQuestion No : 11

21 Fill in blank (2) with the most appropriate option.
Ans £ 1 rapid

7% 2. prompt

/5 3. express

/< 4. hurried

Question ID : 9895804840
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1) a mention in any discussion of the future of Indian theatre. It is the (2)

development of the cinema as a competitor for (3) among people. In (4) early flush of cinematic
triumph, the experts in the field (5) the extinction of the theatre.
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SubQuestion No : 12

.1 " - - - .
Qz Fill in blank (3) with the most appropriate option.
Ans  of 1. popularity
# 2. demand

/< 3. fame
/< 4. choice

Question ID : 9895804841
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1) a mention in any discussion of the future of Indian theatre. It is the (2)
development of the cinema as a competitor for (3) among people. In (4) early flush of cinematic
triumph, the experts in the field (5) the extinction of the theatre.

SubQuestion No : 13

%! Fill in blank (4) with the most appropriate option.

Ans x:[_ a
v 2 the

/5 3. some

/< 4. one

Question ID : 9895804842
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the alternatives given. Select
the most appropriate option for each number.

There is an important aspect which (1) a mention in any discussion of the future of Indian theatre. It is the (2)
development of the cinema as a competitor for (3) among people. In (4) early flush of cinematic
triumph, the experts in the field (5) the extinction of the theatre.

SubQuestion No : 14

.1 " - - - .
Q4 Fill in blank (5) with the most appropriate option.
Ans  of 1 predicted
/< 2. regarded

< 3. calculated
< 4 studied

Question ID : 9895804843
Chosen Option : 4

Q5'1 Select the most appropriate meaning of the given idiom.

At daggers drawn
Ans 1. Being irritated
/< 2. Being friendly
/X 3. Being familiar
' 2 Being hostile

Question ID : 9895804822
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l Chosen Option : 1

Qél Select the most appropriate synonym of the given word.

MENACE
Ans o1 Help
< 2. Delight
< 3. Harassment
v % Nuisance

Question ID : 9895804819
Chosen Option : 1

Q7'1 Select the most appropriate ANTONYM of the given word.

S50GGY
Ans X 1. Cool
X 2. Moist
/< 3. Damp
v 4. Dry

Question ID : 9895804820
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
8 substitute it, select No improvement.

One can succeed in business unless one is prepared to take risks.
Ans  of 1. One cannot succeed
/< 2. No one cannot succeed

/< 3. No improvement

/< 4. One cannot hardly succeed

Question ID : 9895804835
Chosen Option : 2

% Select the most appropriate word to fill in the blank.

Owing to the heavy rains the office building was badly .
Ans 1. damage
X 2. damages
' 2 damaged
X 4 damaging

Question ID : 9895804833
Chosen Option : 4

Q.2 Identify the segment in the sentence which contains the grammatical error from the given options.
0

We have to check the records to find out how much cheques have been collected so far.

Ans X 1. have been collected
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' 2. much cheques
/< 3. have to check
& 4. to find out

Question ID : 9895804830
Chosen Option : 1

Q2 Select the most appropriate word to fill in the blank.

While walking on the beach we seashells.

Ans X 1. assembled
X 2. increased
X 3. needed
v 4 collected

Question ID : 9895804829
Chosen Option : 4

%2 Select the correctly spelt word.

Ans 3 1. Bagger
' 2. Beggar
/< 3. Begger
< 2. Baggar

Question ID : 9895804824
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
3 substitute it, select No improvement.

I am not frightened of Shere Khan so I know that he is verv cunning.
Ans X 1. in case I know
< 2. No improvement
X 3 s01know
v 4 but T know

Question ID : 9895804836
Chosen Option : 4

Q2 Select the most appropriate word to fill in the blank.

He himself from taking sugary foods.

Ans X 1. recovered
v 2. restricted
& 3. resorted
X 4. removed

Question ID : 9895804828
Chosen Option : 2

Q.2
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5 Select the most appropriate ANTONYM of the given word.

MISERARBLE
Ans 1 Lonely

v 2. Cheerful
X 3. Hopeless

X 4. Miserly

Question ID : 9895804821
Chosen Option : 3

Section : Hindi Language

! P T Y oA & AT 3ugES g AT
arfger # O qu =mfev|

s 1 i
X 2 fr
Vo drex
X o g

Question ID : 9895803780
Chosen Option : --

* o T T ¥ R T e A

TTY Telel Tl
Ans ) TET
X 2. gigem
X 3. mgeTAr
v 4 gl

Question ID : 9895803796
Chosen Option : --

** R T g w1 e T

e o afrss
< 2 FEHAT
X 3. TEITH
X 4. FIER
Question ID : 9895803790
Chosen Option : --
Q4
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T 717 oreg % TUTTETEY ofe & TTA FI|

FHHYST

e

Ans «l. mﬁ_
X 2 F=oT
X Eafy
K 4. TRTET

Question ID : 9895803792
Chosen Option : --

Q5 frafefee & & 37 Recy & w9w &t o 'FF T g0sAT 35T FEA F FY ET FAA
A S BT

X 2 T g

X 3 FgYT 9T g4T TErAT

X 4 HETT AT

Question ID : 9895803795
Chosen Option : --

O £y T TrFmiy F BT v e AT

RN FA Tl
Ans X 1 pdA

X 2. mgeHIr

W 3 P

X o Y

Question ID : 9895803797
Chosen Option : --

Q7 fw v I F I@ifRa TE # woraia = F B 397 BT w1 wma =
HAT o T H W TS HR FH R =4 T2

X L FeIeT & A& F T @
v 2 AT F A F TS TR
X3 HIgT 7 W & T TS
X+ AAST & TN F A8 TR

Question ID : 9895803779
Chosen Option : --

*® fow aTT I H I AT AT HY S FE IR
Hal I JEd W9 & e g gl
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Ans J 1. F‘Fﬁ_ 3$F
K2 g gl
X e F B
X 4 SFaa

Question ID : 9895803775
Chosen Option : --

Q9 fw o a=w # WifFa ws # wiorwfe == & B suges fweT #1999 =
3T T BT I T FIT AT TaEeET SEedr B

A +
" X L TEEeEs FEAraT Bl

v o TETaeET FEe B

X 3. TETSEr FETar g

X 4 TETadEd FEa gl

Question ID : 19895803777
Chosen Option : --

% Tl T A e T T
Ans xlm

X 2 R

P re oty

v 4 AR

Question ID : 9895803799
Chosen Option : --

U BT T A % qHgaTE. O T TAT FLI
Fepier

Ans Xlw
X > gt
v g

X4 FEr

Question ID : 9895803793
Chosen Option : --

Qél =fofes 7 @ 30 Gwew & =97 &1 3 ‘e & 3 F T gEEr 7 3 @wT w1

A Lo 3 oET
X 2w e & wreT
X3 e o & =g v 52 e
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X 4 UF g ATH Tl @

Question ID : 9895803794
Chosen Option : --

% BT T T T S A W S IR

3T gHET W IO FEt W AFAEA AT W A g
M e T W

X 2. fargor gTamat W

X 3. 3TATHAGIAT

X4 e g

Question ID : 9895803776
Chosen Option : ==

% Roa o # e F v suged we # 9w F

AT E B
e K e

X2 Js

X s gy

v o e

Question ID : 9895803783
Chosen Option : --

Comprehension:

frmafafia e & Rea . & 9fd agzner & Jr faw
AT geA F HFER HIAT -

) ImAEes ¥ sEer _ (2) T @ ofr wEY
Fr AT Fhar | ER (3) IT WA-=ET T & ALT | T==r
a7 e FRoT & (4) FET 3T Tk | TR H
FE AL vE g AT R (5) &ar &l
SubQuestion No : 15

% g # defad Rea w2 (1) % R saged
oTeg, EIeT-

Ans xlm
X 2. s
o 3 ggaTar
X o Rremar

Question ID : 9895803785
Chosen Option : --
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Comprehension:

Tfafe oy & g wEr & 9 ey & e R
AT A F IFFER HIAT -

(1) 3= o & | S5 (2) ey & ofr 7T

# F1 T | Y (3) Ir WA-=AET T & FLT | T==T
o & & Fror & (4) FET 3T Thelr | IBRT H
Fer 7T £ & U m=ar AT e Hr (5) &ar &l
SubQuestion No : 16

% gy # delaa fwa e (2) F fe saged
Teg EI9T-

Ans Kla'q'&ﬂ'
W 2. delell
23 3T

X 4 =

Question ID : 9895803786
Chosen Option : --

Comprehension:

ol ez & Rea wer & 9fd e & HJer fiw
AT A F IFTAR HIAT -

(1) AT 9T & | sHEA (2) ey & ofr &Y
T Fehar | A (3) I1 BE-TEr & & 797 | g
o 7 o sRoT & (4) FET 3T Tehar | TFREST H
FeT I T ¢ 5 v m=e=r AT e & (5) gar gl
SubQuestion No : 17

G arezier & wHfaa Rera w0 (3) F e suged
reg e

Ans xlm
< 2 T4
X 3. aTer
v TeeT

Question ID : 9895803787
Chosen Option : --

Comprehension:

frrafafEa ez & Rea wmar & 9fd agznr & Jfr i
AT geAl F HFER HAT -

(1) 3¥AATSr 9T & | ST (2) rr & ofr AT
= T | A (3) =1 F-Tier & & 747 | e
Faar & ol FroT & (4) FET 3T TR | SRR H
FE AL vE g AT R (5) &ar &l
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SubQuestion No : 18
% g # FHad Ed e (4) F e suged
T, EIam
Ane X1 it
X 2 TEe
v 3 graET

X 4 oI

Question ID : 9895803788
Chosen Option : --

Comprehension:

ol e & Rea wmEar & 9fd sg@mr & e i
AT oA F FFER HIAT -

(1) 37 o= g | T (2) rr & ofr AT

Fr AT Fehar | ER (3) IT WA-AET T & ALT | T==T
o & aror & (4) FET 3T TehelT | THET H
FET 47 & TF v TEar BT few (5) g gl
SubQuestion No : 19

% g # Tl e e (5) ¥ R 3ugsd
oTeg, EIem

Ans }(1. Pém

X2 g
v 5 FTUoT
FaSEA: o r-

Question ID : 9895803789
Chosen Option : --

% fow oTT R @ 9 s AT Y e FE IR g
AT ST 379 H T FT 45 3 T FF FT AT FLA L

i L FrET St
szﬁaﬁft&;}ﬁm

X3 gs3 AT mEw @ F
X 4 grar wIET B

Question ID : 9895803774
Chosen Option : --

Y e I3 T g F IS FY
Ans Klmﬂ'
v 2 fdrer
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X s EEsy
X o e

Question ID : 9895803798
Chosen Option : --

Y R we # e F R swEd ae # T
AT A SEGT FEA _ H
Oy -
X s
Vo T
Ko g

Question ID : 9895803781
Chosen Option : ==

QéZ T 71w a7 # wifeha @S &1 wiornfia &= & v s9ged ReeT & w0 &
Few AT & T ORy #
A XKL et #r T unr
X2 FEY & TE 9w
K3 Il FT TE O
v HEEe 9T g

Question ID : 9895803778
Chosen Option : --

% R T e F T
frrga

Ans X]" %
X2 HUH
vz 3ET

X 4 &

Question ID : 9895803791
Chosen Option : --

% Roa = 1 s F T 39gE e F 99
AdT 7 g4 & s ferm|

Ans X1 HTEATH
V' 2 oTyoT

X 3 gre-faare
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A -cor

Question ID : 9895803782
Chosen Option : --
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